
Ag2O3 Structure:
A2B3 oF40 43 b ab-001
This structure originally had the label A2B3 oF40 43 b ab. Calls to that address will be redirected here.
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Prototype Ag2O3

AFLOW prototype label A2B3 oF40 43 b ab-001

ICSD 59193

Pearson symbol oF40

Space group number 43

Space group symbol Fdd2

AFLOW prototype command aflow --proto=A2B3_oF40_43_b_ab-001

--params=a, b/a, c/a, z1, x2, y2, z2, x3, y3, z3

• This structure is a distortion of the D55 Ag2O3 structure (A2B3 cP10 224 b d), although (Standke, 1986) does not seem
to be aware of the earlier work. This is most likely closer to the correct structure for Ag2O3 than the D55 structure is.
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Face-centered Orthorhombic primitive vectors
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